Cnuncok 3anacHbIX YacTen: PP6M10P1F 3491 YcTtponcteo BnpbickMBatoLLee

Mosnums  HasaHue Homep 3akasa Yucno wryk Yucpo vacten

ans 100 wr.kP
100 Kopnyc co BTynkamu PP6M CV60036-15 60036-15 1 5
101 PnaHew, CV20009-10 20009-10 1 5
104 Lnuneka M10X30 CV00071-09 00071-09 4 13
105 Mopknagka 10 ISO 7089 Zn 33090899 4 13
106 Mopgknagka 10,5 DIN 6798A Zn 33091800 4 13
107 lavika M10 1SO 4032 5.8 Zn 33090523 4 13
110 EM 10PF-41 MopLueHb n umnuHap CV60403-41 60403-41 6 450
111 Bont M6X28 CV 00061-44 33099417 12 60
1111 lavika M6 CSN 02 1402-M6- 33092348 12 40
111/3 Mopknagka CV 00482-50 34098498 12 40
112 KnanaH HarHeTatenbHbI CV60042-62 60042-62 6 600
113 YnnotHeHve CV 06811-86 34098503 6 500
114 MpyxwuHa CV 08007-20 32094656 6 50
115 3arpyxatens CV00720-96 00720-96 6 50
116 LTyuep pesbboBoro coeamHeHus 06306-58 CV 06306-58 34098460 6 40
123 Hanpaenstowas periku perynupyto. CV 00981-64 35097310 1 5
123/1 Ynop peiiku perynupytowen CV 00980-50 34098619 1 5
124/1 Konbuo "O" NBR 70 ISO 3601/1 31099137 18 900
125 Mopnopa CV 00984-44 34098501 1 5
125/1 Bont M8X22 I1SO 4762 8.8 A3K 33093492 2 7
125/4 Mopknapka 8 CSN 02 1741.05 33093689 2 7
128 Pevika perynupytowas CV04680-63 04680-63 1 10
131 Mpobka ynopa CV02403-45 02403-45 1 10
131/1 Konbuo "O" NBR 80 ISO 3601 31096822 6 60
134 Mopknapka orpaHnymBatowas S=1,50 CV00421-31 00421-31 6 10
134 Mopknagka orpaHnynBatowast S=1,55 CV00421-32 00421-32 6 10
134 Mopknapgka orpaHnunBatowast S=1,60 CV00421-33 00421-33 6 10
134 Moaknapaka orpaHnunBatowas S=1,65 CV00421-34 00421-34 6 10
134 Moaknaaka orpaHnynsatowas S=1,70 CV00421-35 00421-35 6 10
134 Mogknapaka orpaHnynsatowas S=1,75 CV00421-36 00421-36 6 10
134 Mopknagka orpaHnynsatowast S=1,80 CV00421-37 00421-37 6 10
134 Mopknapka orpaHnyneatowast S=1,85 CV00421-38 00421-38 6 10
134 Mopknagka orpaHnunsatowast S=1,90 CV00421-39 00421-39 6 10
134 Mopknapgka orpaHnynBatowast S=1,95 CV00421-40 00421-40 6 10
134 Mopknapaka orpaHnumBatowas S=2,00 CV00421-41 00421-41 6 10
134 Moaknaaka orpaHnunsatowas S=2,05 CV00421-42 00421-42 6 10
134 Mogknaaka orpaHnynsatowas S=2,10 CV00421-43 00421-43 6 10
134 Mopaknagka orpaHnynBatowas S=2,15 CV00421-44 00421-44 6 10
134 Mopknagka orpaHnynBatowast S=2,20 CV00421-45 00421-45 6 10
134 Mopknapka orpaHnynBatowast S=2,25 CV00421-46 00421-46 6 10
134 Mopknagka orpaHnynBatowast S=2,30 CV00421-47 00421-47 6 10



Cnuncok 3anacHbIX YacTewu: PP6M10P1F 3491 YcTponctBo BnpbiCKkMBatoLLee

Mosnums  HasaHue Howmep 3akasa Yuneno wryk YUuncpo vacten

ans 100 wr.kP
134 Mopknagka orpaHnynsatowas S=2,35 CV00421-48 00421-48 6 10
134 Mopknagka orpaHnynsatowast S=2,40 CV00421-49 00421-49 6 10
134 Mopknapka orpaHnynBatowast S=2,45 CV00421-50 00421-50 6 10
134 Mopknapaka orpaHnumBatowas S=2,50 CV00421-51 00421-51 6 10
134 Mopknapgka orpaHnunBatowasi S=2,55 CV00421-52 00421-52 6 10
134 Moaknapaka orpaHnunsatowas S=2,60 CV00421-53 00421-53 6 10
134 Mogknapaka orpaHnunsatowas S=2,65 CV00421-54 00421-54 6 10
134 Mopaknapgka orpaHnynsatowas S=2,70 CV00421-55 00421-55 6 10
134 Mopknagka orpaHnynBatowast S=2,75 CV00421-56 00421-56 6 10
134 Mopknapka orpaHnynsatowast S=2,80 CV00421-57 00421-57 6 10
134 Mopknapka orpaHnynBatowast S=2,85 CV00421-58 00421-58 6 10
135 Obowma perynmpoBoyHas CV20014-25 20014-25 6 100
138 Moaknaaka npyxuHbl NeY 00404-54 CV 00404-54 34098799 6 20
139 MpyxwuHa CV 08007-25 32099270 6 80
140 Tapenka HxHAs CV00426-85 00426-85 6 20
141 R TonkaTtenb ¢ ponukom CV60022-72 60022-72 6 50
142 MpyxwuHa CV 08301-24 32096727 1 10
144 Ban kynaukosbin PP6M CV20019-13 20019-13 1 15
146 Mopknapka orpaHnynsatowasi CV 00400-67 34098532 4 20
147 MopwwunHnk RNU 204 E TNG CSN 02 4673 31096877 1 100
1471 MopwwnnHunk 6305 A CSN 02 4630 31099124 1 100
149 Mpoknapka peavHoBas (Mydepo) 25X35X7 I1ISO 6194 31094190 1 100
150/1 Konbuo "O" 65X2 NBR 70 I1ISO 3601 31090261 1 10
152 Konbuo cronopHoe9 DIN 6799 ZN 33097584 2 40
153 Kpbiwka ueHTpupytowas CV 20026-16 34098939 1 5
154 Bont M6X18 ISO 4017 8.8 A3K 33090381 1 3
155 Bont M6X12 TUFLOCK ISO 14580 33098367 7 175
157 LLinoHka BooapyddadX6,5 CSN 30 1385.11 160.2902 1 10
158 MogwmnHuk onopHein CV04161-30 04161-30 1 10
159 Bont cTonopHbin CV00005-30 00005-30 1 3
160 Pbiyar CV 04701-10 34099170 1 5
164 LWryuep CV06301-33 06301-33 2 13
165 Konbuo ynnotHutensHoe 160.2504 34098662 4 80
167 Bont 8 CSN 13 7993.92 CV 160.2801 34098513 1 10
168 Bont 3anopHbii CV02414-07 02414-07 1 10
169 KnanaH nsbbitouHoro gasnexHus CV69041-19 69041-19 1 20
171 Mpoknapka peavHoBas (Mydepo) 11X19X5 ISO 6194 31093200 2 100
173 BonTt Bo3gyxooTBoaHon CV02402-14 02402-14 1 20
180 Bont M6X20 CSN 02 1207.55 33093181 2 7
180/1 Ckobka CV 00862-26 34098499 2 10

186 Konbuo "O" NBR 80 ISO 3601/1 31099149 1 10



Cnuncok 3anacHbIX YacTewu: PP6M10P1F 3491 YcTponctBo BnpbiCKkMBatoLLee

Mosnums  HasaHue Howmep 3akasa Yuneno wryk YUuncpo vacten

ans 100 wr.kP
188 LWTuncT 4X18 M6 1SO 2338 33096728 1 10
189 Puivyar CV04704-35 04704-35 1 5
190/1 Komnbuo ynnotHuteneHoe 160.2501 34098466 1 20
191/1 Mpo6ka 34099148 1 10
192/1 Haknapka CV 00419-55 34098617 3 15
193 Bont M5X12 TUFLOCK ISO 4762 8.8 cer 33099303 4 13
194 Mogknaaka 5,3 CSN 02 1702.12 35093942 2 7
195 Mogknanka CV 00402-42 34098699 2 7
196 Ban CV04012-03 04012-03 1 5
Komnmn. Kopnyc B c6.c yctporictBom CTOI CV60036-16 60036-16 1 5
Komnmn. Cekums HacocHas CV60503-54 60503-54 6 30
NMPUHAL ZS64-1800 KoppekTop n3bbITo4yHOro gaBneHns 990.1800 1 5
NPUHAL RV3M400/1050-3394 Perynstop 990.3394 1 5

MPUHAL CD3M3554 Hacoc nogkaunsatoLmnii 990.3554 1 5



116

PP6M.f... .
114

112

113

110

124/1

13111
1111
111

111/3

191/1
186

135 1231

138
139

140
152 146 195 171

134
J// 141
6.

O 188 160

N
196

104 105 106 107 173-§

193

oy

180/1 180 125/1 158 159

101 149 153 150/1 147 144



